[image: ]     [image: ]
[image: ]      [image: ]
[image: ]      [image: ]Stem
Leaf
0

0
5 5 5 6
1
0 1 2 2 2 3 4
1
5 5 6 6 6 7 7 7 7 8 9 9
2
0 0 0 0 0 0 3
2
5 5 5 7 8
3

3

4
0
4


Stem
Leaf
0
5 5 5 6
1
0 1 2 2 2 3 4 5 5 6 6 6 7 7 7 7 8 9 9
2
0 0 0 0 0 0 3 5 5 5 7 8
3

4
0



[bookmark: _GoBack]




image6.png
Frequency

*Unsaved <

10 15 20 25 30 35 40 45
study_time





image1.png
T T T T T T T
40

10

T

5

15 20 25 30 35

study_time





image2.png
T
5

T
10

15 20 25 30 35
study_time





image3.png
EMEE) v~

36
=4
[
3
o
<
L 3
0 H
5 10152025303540
study_time





image4.png
ERMEER) v~
9

[}

Frequency

10 15 20 25 30 35 40
study_time





image5.png
Frequency
w

o

10 15 20 25 30 35 40 45
study_time





